WL R — LR B EHRE R
L.

REHLU={1, 2, 3, 4, 5, 6, 7, 8, HEES=(1, 3, 5}, T={3, 6}, W[y (SUT) &TF (T
)

A.2 B. {2, 4,7, 8 C.{l, 3, 5 6 D. {2, 4, 6, 8

2.

c0s210°= ( )

.
a
:olf‘::]

BREy=f (x) Fx=2IR mANECHN ( )

A. 04  B. 1 C. 24 D. oAEIA

4.
BRRERFEER2, WA BREEOCHKIIES S ¢ )

A. 43 B. 2 C. 242D, 243

5.

R lgx=Iga+3lgb - Slgc, A ( )

5
’ Ak - ak
= E =

C. :* D. x=at+b3 - ¢3

Al /x=at+3b-c¢ B.

| LA rL q

Efisin 2 =5, cos 2=- 5, NAXIATERNRRRE ( )
A. B—%R B. FHR C. F=RMR D. FURR

7.

@ﬁf(;;:':lm.rl'm;x KBS ( )



